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Dividing Multi Digit Dividend by Multiples of 10
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. 4200 + 10 =
6900 + 30 =
8020 + 20 =
5410 = 50 =
3670 = 10 =
9520 + 40 =
6740 + 70 =
7360 + 20 =
4850 = 50 =
5290 + 10 =

. 8140 =+ 80 =
6130 +~ 70 =

. 7520 + 80 =

. 9460 =+ 20 =
3780 + 30 =
7410 = 70 =

. 8640 + 80 =

. 9020 =+ 20 =
5390 + 10 =

. 6820 =+ 40 =

21.4870 + 30 =
22.7230 + 60 =
23.5640 + 40 =
24.6930 + 70 =
25.8170 + 20 =
26.6420 + 60 =
27.9030 = 90 =
28.7580 + 20 =
29.5360 + 40 =
30.9240 + 80 =
31.6710 =+ 50 =
32.7850 + 70 =
33.5210 = 10 =
34.6490 + 50 =
35.7360 + 80 =
36. 5890 =+ 30 =
37.9240 = 30 =
38.4670 + 20 =
39.6720 + 60 =
40. 8730 + 90 =
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50120 = 10 =
67290 + 30 =
80350 + 10 =
52940 + 20 =
64780 + 10 =
93460 + 40 =
72650 + 10 =
86420 + 20 =
58970 + 10 =
74160 + 30 =
. 95340 + 10 =
61870 + 20 =
. 79250 + 10 =
. 46780 + 20 =
. 58190 + 10 =
87240 + 20 =
62510 + 10 =
75380 + 10 =
91450 + 10 =
53690 + 10 =

21.
22,
23
24.
25,
26.
27.
28.
29,
30.
31.
32,
33.
34.
35.
36.
3/
38.
39,
40.

50340 + 60 =
68950 + 70 =
76580 +~ 70 =
82710 + 90 =
94230 + 10 =
51360 + 20 =
73640 + 40 =
89570 + 20 =
67480 + 30 =
74690 + 30 =
91230 + 30 =
58140 + 40 =
65790 + 40 =
82450 + 40 =
94320 + 40 =
58230 + 50 =
74860 + 50 =
86570 + 50 =
94680 + 50 =
56930 + 60 =




